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3,000,000 =2CH 6,000
Os=4A d2=I 4 M 20,0002 290kg 5,800
OXot =Sti=82 KX 2c
2,000,000 * 1A x1/2 1,000
O4std =HIA1E X 22
2,000,000& » 14 2,000
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0,000, 000& *141%0.5/100
OR4d0t0I3 2= 4,430,500 *18CH*1/100
OR4MeHA E4 4,328,900 +10CH*1.5/100
ocoa 2= 872,000% *4CH *30/100
Og4 & JIE PPTE =8 &Ml PCE+
250,000& »4CH

I 2LIE AIE RAES
1,000, 0003 * 14
OHSZAAE RAE 1,000, 000& * 14
O&J|etd 2e| X+ A3l | 100,000& 13l
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1,000, 000& «3CH
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Oxgd=+ 2d 2,800,000 14
OxdgEZ£ sizel 2,000,000 =14
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500
5,700

2,000

1,000
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650
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1,000
1,000
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500
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1,000
2,800
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EX: S3t0lz=3 2
H: HY2HAH| (230=32)
ch: JI24dd|
- _ _ RE]
SN ED B (3H) - MEAY - BAS ol &k o8 %@ﬁ
O %2l | 4,000,000 13| 4,000
202 o4l 24,000 24,000
01 2L HI 24,000 24,000
OJI2gRas 2UHSE Y
0,000 *10¥ 10 x12& 24,000
203 €2 F=&d| 3,520 3,520
02 BRI YR2FAH| 520 520
MNIAMNFEAL S AT S HH|
40,000& *13H 520
04 EASHEIRFEH| 3,000 3,000
OFMSY gRF4&H| 250,000& x12& 3,000




